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W, Z%Liz :%L(;)Swzsil’l2 wt +¢
:%sinz wt +¢ 15- 16
W=We+Wm=§:°: 15 - 17
8§15- 4
1888

LC
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15- 13

15-6 d

15-5

p=p, coswt

15-6

15-6 e

15-5

15-6 b
15-6 ¢

15
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&
@ @ () (@ (e)
15-6
x"
15 - 7
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18

18

1

Eolo

u=

15- 19

15- 19

P E H
ExH r
2 .
sinp
Ert =’U“7p°w COSw(t- L)
4 u
Hrt :73Mpow25im9c
Aqr
_ 1
u=
v e
=2.998 x10° m- s *
15 -
E H
0 r
E:Eoco&y(t- X):Eocos wt - kx
u

H=H0co&u(t-%)=Hocos wt - kx

k=%
o

15-9

15 -

15- 20

15-21
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15

15-9 b

(b

(a)

15 -

15-9 a

1/ Veu

W, uH 2

_1 -
We—ng

15- 22

uH’

1

1,
n=oeE

W=W, +W,
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S
S=wu
15- 22 U=1/Vou oE=yuH
1 l 2 1 2 1
S= (78E + IMH = E H+«/7H /7E
Veu 2 2 2@(5 JuH +uH /E)
S=EH
E H
S=E xH
S Poynting vedtor .
15- 23 15- 24 S E H
s=41( r 1
S = 7] 0EOHO cosz(wt - U)dt = onHo
15- 18 15- 19 15 - 23
/;«/;Tspﬁw“smze r
S=EH = oLolt- L
TR “’(t )
r
5 Mo’
12%wu
X

15-25
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15- 10
4%/ Mz
- T 1I(,“l 192 T 1104l 1IOéll lpﬁl lplul 19121 IP]4I 1P]6l 19”‘] 1[02']' ll()zzl 1924_
Kyl W W él:&bé':%f‘}s‘%&bé% 5 2k
- — G
FEE R X5 £k
10° 10° 10° 10° 10" 10 10 10° 10 107 10™ 10™ 107
#HK/m
15- 10
» =10 ?Hz 100s 5000

600um 0. 76pm

760nm  400nm
400nm  5nm

X 5nm  0.04nm

v 0.04nm X
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15-1
15-2
15-3

|_\
© 0 N O O~ W N - O
1
I

e el
w N P O

15-5 LC
15-6 LC

15-7
15-8
15-9

15-1
—cd
Id—Cdt
15-2 C=1x10"“F

50Hz 1.74 x10°V
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15
15- 3 0.20 m
0.50 cm 2A.
15- 4
E=720 sin 10°wt t s E V/m
1 2 t=2x10"°s
r=1cm
15-5 R=0.10 m
dE
dt
1 2 r r<R
15-6 10pH 5pF 20pF
LC LC
15-7 10pF  360pF
1
2 5.0x10° Hz 1.5 x10°Hz
15- 8 LC
U =50 cos 10*mt C=1.0x10""F. 1 2
3
15-9 P, =2.26 x
10°°C- m 800kHz. 1 2
3 f=ml2 2km
15- 10 1.0 x10°W
2.0x10 °m.
E, B,.
15- 11 10 kw
r =10 km
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15- 12
8.1



16

17
. 17
I. Newton
corpuscular theory
C. Huygens undulatory theory
18

19
1850 J. B. K. Foucault A.H. L. Fizeau
19 J. C. Maxwell

19 20

400
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20

&0

Er

60
816-1
_ 1
c=
Eollo
Mo
u=
SI'MI'
M
_C
n=—
u
n= Jom = e
w u
E H
H
E

photo vector E

Er

My

16-1

My =
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average luminous poner .
| E.
|=5=1 [fofrgz
2 Meofhy
E
| =E 16 - 2
visible light
A 390 ~ 760nm 7.7~3.9 x10%
Hz.
16-1

/Hz

100 wm ~10 wm

3 x10% ~3x10"

10me~2me

3x10" ~1.5x10"

2 pm ~760 nm

1.5x10* ~3.9 x10*

760 nm ~ 622 nm

3.9x10" ~4.7 x10"

622 nm ~ 597 nm

4.7 x10" ~5.0 x 10"

597 nm~577 nm

5.0 x10" ~5.5x 10"

577 nm ~492 nm

5.5x10" ~6.3 x10"

492 nm ~450 nm

6.3 x10" ~6.7 x10*

450 nm ~435 nm

6.7 x10" ~6.9 x10*

435 nm ~ 390 nm

6.9 x10" ~7.7 x10"

390 nm~5 nm

7.7 x10™ ~6.0 x10"
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A)
0.1~10%nm

AA

§16- 2

10"

10" ° nm

~10"8%s
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P
E, =E, cos wt - kr; +¢,
E, =E,, c0S wt- kr, + ¢,
|1=Em2 |2=Ezo2
Eo2 = E102 + Ezo2 +2E,Ey CosAg
=1, +1,+2 ./I,1, cosAg 16- 3
Ap=K -1 + @xn- ¢ 16- 4
16 - 3 I, I, P 2 /1,1, cosAg
interference term .
16- 3 16- 4 p
[P Ay
Ay
A¢=i2kﬂ' k=123 =1, +1, +

2 /11, Ap =+ 2k+1
m k=012 =1, +1,-2 /1,1,

I =1, +1,
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1.
2 /1,1, cosAe Ap.
v c A
n u An
c
u=—
n
Uu=aA.v
p=UoCoA
v ny n
n 1/n.
r
r
—- c=nr
u
r
nr. r
nr r optical path .
2.

16 - 2 s S v



AaF

AaF

16 - 3

AaF
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n, n,
r r,
1
2
16- 2
r r
Ao =2 2 1)
P w(Az ™
j\z _ 1\1) _Tﬂ n,r, - niry
Ap nr, - nr,  Nyr, - Ny
1)
A@:Zjé 16 - 4
A
Ag = +2Kx
k=012 Ap=+ 2k+1 x
ABCDE
16 - 3
o i CoF
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BCDE

BoF'

16 -

§16- 3

T. Young

1801

B 5P

16 -
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16
S, S
16 - 5
d S
DQ
S not
O X
Q 16-5
5:r2—r1%ds.n0
d D Y
: -X
_xd
5=p
S s S S
_xd_ _
5_D_ik,\ k=012
x:ik% k=012 16-5
Q k=0
k=1 k=2
16-5 X
_xd _ A =
5_D_i 2k+12 k=012
Xx=+ 2k+1 % k=012 16-6

2d
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Q 16- 6
: S S Q 16 -
16- 6 Q 16-5
16-6
DA
AX=Xyeq = X, = d
d D AX
A d D
AX A
16-1 . d=1 mm
20 . 600 nm
1.0 .
]
@]
N @) N
o]
d=n,d- nd
n2 r-]1
6= n,-n, d=NaA
-9
n,=n, + A =14 20X600x10°° _, 5
d 1x10
16-2 : d
390 nm ~ 760 nm
§=dsing = ki k=012
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Xx=0
An
A,
k}\h: k+1 /\z
A, 390
K= - r, 760-390 -
k
16- 6
i gy ik
16 - 5 s S
El E2 Il I2
E*= El2 + Ez2 +2E,E, cos ¢, - ¢,
2
Ap =, - ¢1=7ﬂ8
Q

|ﬂﬁh+2|ma4%ﬂ
E, =E,=E, |,=I,
I:2I(1+ca2w ) =4l aﬁ(WAJ

§=+kr k=012

| =41,
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.1818

A. J. Fresnd

16-7
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0 £5CS, =26
D D,
Ax = ?A = er.)‘ne 16-7
r C S SS S C
16- 3 S 500 nm S
10cm C P 2m 8'
1
2 10
1 16-7
Ax= DA _ 10x10-2+2_;509x10'9:2_3mm
2r sing 2x10x10 “ xgng'
2 6 10
x10 2 +2 x x10°°

Ax :ZrDsi/\nH' - 102 xl(l)O ><1(2)’2 XSSi)llOZ'I.O =1.8mm

1834 H. Lloyd
16 -9 S
P 90°
M b
P M S S S
S S
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S S

16-4 16 - 10 h=0.5m

20 cm
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AB | BC
o :E- a:+%

=AC 1- coa +%

A2

k=1 oy

-2
A = aresin 20210 " o5 74

a1=ar<5|n4h 4x0.5

§16- 4

16- 11 e n,

16 - 11 ab . a
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a b Q
-1 B a BD
B Q D Q
ab Q
D A C B . a b
5=n, AC+CB - nlmﬂs'
5 . 16-11 vy
n,siny =n,sini
Ez&:z% AD = ABSini =2etany- sini
2n,e " , ,
é = 1-9n"y +§ =2n,ecosy +6

cosy

=2e./n,” - ndn’i +¢§'

5=2e.,/n,” - n’sn’i +8' =ki k=123
§=2e./n7 - n2snfi +8' = 2k+1 % k=012
i =0°
5=2en, +8 =K\ k=123

5=2en, +5 = 2k+1 % k=012

5
1n>n,>n, n,<n,<ng

16
ab
B D

16- 8

16-9

16 - 10

16-11

16- 12
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n, >n, a A
n, >n, b C
n,>n, >n, 6'=0 n<n a
17 n, <n, C
n, <n, <n, 6 =0.
2 n<n>n, n >n,<n,
n, <n, a A n, >n, b C
n, <n, >n, 6':% n, >
n, <n, 8':%.
0 n,>n,>n, n;,<n,<n,
S = A 16 - 13
o m<n>n, >0, <ng
16- 11
a b
8r =2e./n,” - n2dn’i +8"
II_A_I
) > )
6"
nl n2 n3
MgF, 1.38
16-5 MgF, n=1.38
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A =550 nm
1.5
1.0
MgF,
- - A -
§=2ne= 2k+1 0l k=012
_ 2k+1 A
4n
k=0
_A _ 550 _ _ -5
e_4n_4x1.38_99'6 NM=9.96 x10" > mm
16-6 n,=1.20 n,
=1.30
1
460 nm
2
1 n, n,
5=2ne
2ne
d=kn A= kl k=123
n, =1.20 e=460 nm k=1 A, =
2n,e=1104 nm k=2 A, =n,e=552 nm k=3 A, =%n1e=368 nm
A, =552 nm Al A
2
A
5:2n1e+?

5=k k=123



- 162

16
_ 2ne
!
k-3
k=1 x,=2208 nm k=2 A,=736nm k=3 A,=441.6
nm k=4 A,=315.4 nm A, =736 Nm Ay =441.6
nm Ay Ay
16-12 a G G
D
M
45° L T S
L M
16-12 b
b
T
L
i3
L4
S L4
%
Y M
|
GI __——"‘_—m
G, |
(a) MEBRTHERE (b) BBRTHHRL

16 - 12
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16 - 13

L
16 - 13
e
_ A _
8—2ne+?—k/\ k=123
_ A A -
8—2ne+2 2k +1 5 k=012
S=\/2
16 - 14 16 - 15
k
k+1 €1
A _Ayg
ek+1'ek_%:7

n,

n<

16- 14

16- 15
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SO,

16 - 13
i An
bsma_?
7]
0
sng=tanhd sng=0
gt
“2b
%=tanexg
AL AL
D=0 =2mo
b
A
16-14 a M
16-14 b
16-14 c
A2

Ol “,m

16 - 15



o HE 1 R B 7
M_———
| I (a)
M’ T A T 4R

(b

b

aad

—] |- (e)
br
16 - 14 16- 15 SO,
16-7 .
A =589.3 nm | 28.88 mm
30 4,295 mm D.
16 - 13
D =ltang
0 . A2
con— A
bsing = 5
sineztanezTD
c—p D A
bsing =b [ =%

_IA _28.88x589.3x10°°

— -2
D_Zb_ 4205 =5.746 x10"“ mm
2x—_——
29
16- 16 a R

R

S M
T 16-16 b
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T
L
1%
S o< i%
FM
R
EEE 1, y
® ‘O&&& €
S B A
(a) MBS THEE (b) FWH T E R
16 - 16
1
_ A
6—2e+2
2e+%=k/\ k=12 3 16 - 16
2e+%= 2k+1% k=012 16 - 17
O e=0 S=A/2
16- 16 a
P=RP- R-e?=2Re-¢
e ) R>e €<?2Re €
r2
ST
r= [ 2K-TRA g5 16 - 18

r=/kRx k=012 16 - 19
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16 - 18 16 - 19

k+m
d’= 2r, ?=4kRA
di+m: 2rk+m “=4 k+m RA
di+m_ dﬁ =4mRA

R=1 & -

:4m/\ k+m
1
:m Oeim- d  deopn +dy
R:% rﬁ+m ri =$ Meem = Tk Meom TT

A =600 nm
T
n, =1.20.
T
[ '
L A
T~ Y
L Yy
LA BB
G i |

16-16 b

n, =1.50
h =800 nm
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2n,e=ka k=012
_k
e_2n2
k=0 g=0k=1 ¢€=25x10°nmk=2 ¢ =5.0x10°
nm k=3 ¢=7.5x10°nm k=4 g =1.0x10°nm

h =800 nm k=012
3. e=0 e=h =800 nm
8§16-5
A. A. Michelson
16 - 18 .M, M,
M,
M, M, M, G G
G
G, G,
G, M, M, 45° .
, | mmannmn]
M,

%é@;
A R il 7
N
242 ) :

L, 7/ O 1
s L 7T
Gll \ IGZ
2 1

W &2 5P i

16- 18
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S
Ml
G
G G
1
2 1
G G
Ml
M G
MZ
IvllI MZ
M,
16 - 20

1907

G G 45°
1
G M
P 2 M,
P 1 2
G
2
G,
G,
Ml MZ
M,
MZ Mll
MZ
” Ml
16 - 20
107" m
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§16- 6

16 - 19 S
16 - 19 a
16-19 b

16-19 c

¥4
9/ 43/

(¢c)
16 - 19

10" m



- 170

107" m
- Huy.
gens—Fresnel Principle
16 - 20 S
ds 1
ds
0 2 P
r 3 das
P ds 0 6 dS
€, ds P r .4 P S=
nr ZZ@ZZTrnI’.
A A
ds P t=0
S
dE=Ck 6 d—scos(wt- anr)
r A
C k 0 0
9=0 Kk 0 1 9;% k 6
=0.
P S ds
_ _ k 6 2mnr )
E = de = cf—r cos(wt- " )ds 16- 21

16- 21
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16-21 a
J. Fraunhofer 16-21 b
wym  EUR e Rl
38 “ : =
S st 111 76 BB
EACE
() JRERS OES Y3 it
16 - 21
§16- 7
16-22 a L'
S L G
L L P

16 -

22
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16 - 23
23

A2

16-22 b
a AB
Q
L
5=AC=asng
Q
i

16 - 22

6=0

16 - 22

16 -
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L
asing = +2k. % k=123 16 - 23
asing = + 2k+1% k=12 3 16 - 24
K
16-23 16-24 k=0 16
.23 k=0 . 16 - 24
k=0
k=0
2 0,
0,
oA
0, =20, =2arcsin —
a
6, sng, =6,
.90:291:2% 16- 25
Ag=L 16 - 26
a
L f

|, =2ftang, ~ 2fsing, = 2f %

Al =6,..f- 6f=A0- f =%f

16 - 24
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31 20 A o A 21 3V
- @ T T T 7 sné
16 - 24
A a
a
Ag=)la a
a
a>A A6
S
3
16-9 a=5\ f=40 cm
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16 - 23

asng, =A asng, =2\

A —gem

X, =ftan01zfsin(91zf% =40 XSA

2\ _
5)\—16 cm

X, =ftan02~fsin02zf%=40 X
[, =2x, =2 x8 =16 cm

Al, =X, - X, =16 - 8=8 cm

25 Db

G. B. Airy
R

le— 7
(a> [l £L A7 4 2t 2 I (b) B AP
16 - 25

83.8%

16 -
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6,

o =016 A =1 29 A
sing, =0.16°-=1.22 %

sing, :%

6, ~sing, :0.61’\721.22%
f 16-25 a
R =ftang,
0, tang, =sing, =0,

Ag

R = ftang, =0. 61 ’\Tf:1.22 A

16-26 c

16-26 a

16-26 b

L. Rayleigh

Rayld@gh criterion .

80%

16 - 27

16 - 28
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i

16 - 29

10 m
400 nm
2 000.

16 - 10

0<60

=
.
=

4.0 mm

(a) Fer ik

(b) g
(c) R4 HF
16 - 26
80 16-26 b
R
80
. . _ A
sSingd = sing, —1.223
A
86 =0, :1.22E
_1_.d .
T80 1.22) 16-29
R
. 1990
2.4 m
200 nm
12 0.1 nm
3 mm
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550 nm
-9
59=1.22 2 =122 x220X10 " _5 5410 4rad
d 3.0x10
S
0
-
=75
80=6
| _4.0x10°°
=—=——"=—-=18.2m
80 2.2x10°*
§16- 8
grating .
N a b

d=a+b .
L P 16 - 27
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N - (a+b)sind
PPN
" W EP

8= a+b sng

1 2T
N Q
a+b sng= £tk k=012 16 - 30
16 - 30 . k
k=0 k=123
2 Q E,
Agp E, E, E; E, E,
N
16 - 28 E E,
16-28 N
_2m
A¢_A6
N

NAg = =K' 27 k=123
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NS = +K A
a+b sng= ik'ﬁ k=123

Ap=+tk 21w &=xki k=012

K =kN
a+h s‘nezik'ﬁ k=123 K kN K 16 - 31
K  N2N 16 - 30
16 - 30
N-1
3 N-1
N- 2
4% .
N
16-29 |
(a) N=5 (b) N=20
16 - 29
16 - 30 16-30 a
16-30 b
16- 30 c
16-30 ¢ k==+3
+6 a+b sing =kx

asing =k'a 16 - 30 a
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16

(a) BEEFTH
(b) 2HTH
(c) YeHitfT 5

k:

16 - 30

k=012

+ kA

a+b sng

k=123

=zkA

asing

16 - 32

k=123

16 - 32

3:1

a+b
k=369

31

589.3 nm

A=

16-11

500

9]

a+b sng

S1al7)

k=a+b.

sing =1.
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_ _1 _ -3
d—a+b—500—2 x10"° mm

2x10°°

=72 -34
589.3 x10 " °

2k+1=7

16 - 31

Bt %;g&\‘iﬂfz
e 2 f—] |

VETEN  RETAN
16- 31
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: k A A +6A
Ator Kk A kN+1
k
a+b sng=k X +6X
kN +1
a+b sng' = kN+1 %
0=0
k A +8A :M
N
A
—=kN
A
_A
R=2-=kN 16 - 33
oA
N k
816-9 X
X
X W. K. Rontgen
1895 X
16 - 32
K A
X
X 0.01 nm
10 nm . X
X
1912 M. V. Laue
X
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16- 33 a . PP

16-33 b

(a) B4 B AT i (b) BB
16-33 X
X
.1931
W. H. Bragg 1862 ~ 1942 +
W. L. Bragg 1890 ~ 1971 * - -0-0--0-0-0
X X - -0-—0--0-0-9
16 - 34
cry-
stal Ptane 16 - 34 . d
A X @
8 =AC+CB=2d sing
2d sing =ka k=123
X d X
© X X
X
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§16 - 10

light

(a)
16 - 35

Polarization .

natural

16- 35

(c)
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16 - 36

16- 36 a 16-36 b

16 - 37

16 - 38

16-37 a 16 - 37

& 4% 75 17) e 4 75 17

| S S | .*,,,3,,#,
rYy vy
(a) (b)

16 - 36
+%%ﬁﬁ e 1 77 1A

-
——

(a) (b)
16 - 37

dichroian .

Polarizer .
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P, P,
()
16 - 38
l, I, E. L. Malus
I2 Il
I, =1, cos’a
o
P,
”/ l\
\\ }32
o Ez
16- 39
16- 39 P, P,
a E; E, P,
P,
P, P,

E, = E, cos
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a=0° 180° 1,=I,
a=90° 270° 1,=0
16 - 12

6:1
PR I
", 1,
1 1 1
|1_?|1 I', =1,co8a
a=0
1
Imax:?|1+|2
a:90°
IminziIl
D =6l 4y %I1+Iz=6><%h
L_2
I, 5
2:5.
16-1
16- 2
632.8 nm

1 589.3 nm
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16- 3 S S s

16-5
16-6 b=1/20

16-7 a

16- 8

16-9

16- 8
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16 - 10

16 - 11 n=
1.50 n=1.75
n=1.62 .

n=1.75 n=1.50 ‘

HENeN

16 - 13

16 - 12
16- 14

16 - 15
16 - 16

16 - 17 A ¢

3 &
EN

1 AP-BP=2) P -

B p N
2 AP-BP=1.5) P B

Q AQ- BQ=2.5) 0

Q P Q

16 - 17

16 - 18
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P
16-19 X
16 - 20
25 cm
16- 21 16 - 18
16 - 22 a b M G N
c I
16 - 23 M N H H H
M N
M M N 16 - 23
G M N
1 N
G
16-1 0.30 mm
1.2m 5 22.78
16- 2 n n
e A
16- 3 ’—— s ——|
om
o
0m
H o0
60 m 98 MHz. EIDDDEI

16- 3
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20 cm 30 cm.

5 : A = 480 nm
d d .
16- 6 S A = 600 nm s
n =1.23 e d,

. e=1.0 cm 6 =30° I
- n Y e
SA=BC=5cm L Y

T B
1 Y \
2 C
16- 6
3S C
16 -7 0.25 mm
50 cm 2
400 nm ~ 760 nm
16- 8 380 nm
n =1.33.
16-9 630 nm
525 nm

1.33.
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16 - 10 €=400 nm
n, =1.40 n, >n, >n,
16- 11 e= 350 nm n, al
<n, n,<n,
1 S \ " S
2 || 4 |
16 - 12 n, =1.52 H,
n,=1.38 MgF, 16- 10
= 550 nm
16 - 13 .
D =0.048 mm L =120 mm 632.8 nm
1
2
3 120 mm
16 - 14

: S
3.42 SO, 1.5 16- 14
589.3 nm 7 . S0, e
16 - 15 589.3 nm
Al=4.0x10"%*m
Al' =3.85x10°°
m .
16 - 16 10
1.40 x10°? m
10 1.27 %10 m
16 - 17

A =589.3 nm
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R, =102.3 cm 4 r, =2.250 cm.
R,.
16 - 18
S L G G d
LT
E
T, E
98 . A =589.3 nm | =20
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99.6 nm

505.4 nm

1 4x10%rad 2 7.91x10*m 3 152
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2 3.99x10°%J1.33x10 % kg- "1 4.41x10* kg
3 9.97 x10 " J 3.31 x10" * kg- "1 1.10 x10"* kg
4 1.33x10°%J 4.42 x10 * kg- "1 1.47 x10" ¥ kg
5 1.99 x10 " J 6.63 x 10" * kg- st 2.21x10 ¥ kg

33333
w u u u

18-9 3.32x10"* kg m/s 37.8 eV 6.22 keV 5.12 x10° eV 6.19 x10° eV
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5.49x10°*J6.64x10°*J1.15%x10° %]
0.091

1 9.43ev 2 x=0 0.10 nm 0.20 nm

6.04x10 *xn*J 2n+1 x3.77x10 ® eV
37.7xn’eV 2n+1 x37.7 eV
3.33 nm 10 nm 16.67 nm
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